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Quant Mega Quiz for SSC CGL Tier - 2 (Solutions)

S1. Ans.(c)

Sol.

sin B + cosec B =2
So,sinB =1
AndcosecB =1

sin®®® 6 + ——500g
sin e

= (1] + (1]101:”)

=1+1=2

S2. Ans.(d)

Sol.

sinfy; + sinf; + sinf; = 3
So,8, =8, =8, =90°
cosB; + cos 8, + cosf;

= cos 90° + cos 90° + cos 90°
=0

S3. Ans.(a)

Sol.

(sec B - cos B) [cosec B - sin 8) (tan 6 + cot B)
(1 —cos?@) » (1 — sin® @) « (1 + cot* @)

cos B i sin B cot@
sin’B cos’@ cosec® B

X,
cos sin B cot 8
sin B
sinB XcosB X ———
gsin® 0 % cos 0

=1
S4. Ans.(d)
Sol.
[;L+5in|9+5inzﬁ'+sin39+ ..... DO]=4+2~.,;'§
G. P
Sum = —
1-r
Here,a=1
r=sinf
S =——— =44 243
1—sinf + 2
1
=1—sinf=——
44243
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(4-2v3)

16 —12

1—sinf =

_4—2\5
- 4

3
1—5in9=1—§

S5. Ans.(b)
Sol.

12sin@ + 5cos B =13.
Since, 12, 5, 13 are triples
So,

\ 12 &
ginB=—cosB=—
13 13

coth=—
12

S6. Ans.(c)

Sol.

Given,

p = asinx + becosx

q = acosx — bsinx

=p® =a’sin® x + b cos® x + 2absinx cos x

and g = a®cos®x + b*sin®x — 2 absinx cos x

~p? + g° = a’(sin® x + cos? x) + b?(cos? x + sin® x)
=a?+b?

S7.Ans.(d)

Sol.

We know that, sin 30° = %

Value of sin increases 0° to 90°

~ 5in 31° > sin 30° and sin 32° > sin 30°
= sin 31° > é and sin 32° }%

On adding both sides, we get
sin31°+5in 32°> 2 + -
=s5in 31" +s5in 32° > 1

S8. Ans.(c)
Sol.

21"[ . EJT] 2:"!' e 2:"!'
cos® =+ sin® =) + 4 cos® - — sec— + S tan® -
( 2 8 4 3 3

1472 2
:1+4’(E] —2"‘5(\@}
(~sin’8+cos?B=1)
=1+2-2+15=16
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S9. Ans.(d)
Sol.

We know that
-1=cosB6<1
~-l=<cos2x<1or
-1+1<1+cos2x<1+1
=0<1+cos2x=?2

ENGLISH

BY

$10. Ans.(a) NEETU SINGH
Sol. 12th May

cos 30 + sin 360

=42 (,—1_ cos 36 + Tl_sin 33)
V2 V2

=+/2 (sin 45° cos 38 + cos 45° sin30)

= /2 sin(45° + 38)

The maximum value occurs when

sin (45°+368) =1

ie. 36=45"=8=15"°

S11. Ans.(d)
Sol.
(34*% 4+ 43%%)/7 =[(35 — 1)* + (42 + 1)*4/7]

Applying binomial theorem to (35 — 1)*3, all terms will be divisible by 35 (i.e. 7) except the last term

which will be -1. Similarly, last term of (42 + 1)3* will be +1.
Therefore, 34*3 + 433* will leave remainder [(-1) + (+1)] = 0, when divided by 7.

S12. Ans.(b)

Sol.

Two prime numbers greater than 2 must be odd.
Sum of two odd numbers must always be even, thus,
X +Y =87 is not possible.

S13. Ans.(b)

Sol. 7! +8!'+9I+10!'+......... +100=7.6! +8.7.6! +9.876! +........ + 100!
Is completely divisible by 7 as each of the terms contain at least one 7 in it.

Now, 1! + 2!+ 3!+ 41 4+5!+6!=14+2+6+ 24+ 120+ 720=2873

which leaves a remainder of 5 when divided by 7.

S14. Ans.(a)

Sol.

Clearly, (2272 - 875) = 1397, is exactly divisible by N.

Now, 1397 =11 = 127

.. The required 3-digit number is 127, the sum of whose digits is 10.
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S15. Ans.(d)
Sol.

{3:5 + 326 +32? +32E] — 325 W (1 _|_3 _I_ 3: +33]
=335 x40 =37 x 3 x4 x 10 = (3%* x 4 x 30), which is divisible by 30.

S16. Ans.(b)

Sol. Let the common remainder be x. Then numbers (34041 - x) and (32506 - x) would be completely
divisible by n.

Hence the difference of the numbers (34041 - x) and (32506 - x) will also be divisible by n

or (34041 - x - 32506 + x) = 1535 will also be divisible by n.

Now, using options we find that 1535 is divisible by 307.

S17. Ans.(b)

Sol.

Given, L.C.M =40 H.C.F
1=40h

And,

l+h=147a
41h=1476=h =36
We know,

L.C.M x H.C.F = I no. ¥ Il no.
40h x h =288 x x

40 % 36 X 36 =288 X x
x= 180

Thus, the other no. 180

$18. Ans.(b)
Sol.

7*/2400 gives us a remainder of 1. Thus, the remainder of 7°° /2400
would depend on the remainder of 72 /2400 — remainder = 343.

S$19. Ans.(a)
Sol.

Remainder= 12
Divisor=4 = 12 =48

48
Quotient = 5 =6

Dividend = divisor x Quotient + remainder=48x 6 + 12

=288+12=300

S20. Ans.(c)

Sol.

2 3 4 a3 99
=—X—-X—..X—X

3 4 5 99 100
_ 2 _ 1

© 100 50
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S21. Ans.(b)
Sol.
cos(B-A)=a
cos(B-B)=hb
Put 8 =90°
cos (90°-A)=a
a = sinA
b = sinB
Put A = 60°
B =30°

V3
a=—

= sin” (A — B) + 2ab cos(A - B)
5 \.E 1
sin*(60° — 30°) + 2 X - X Ecus(ﬁﬂ” — 30°)

Now check the option
Option (b):- a® + b*

~(3) +6)

31 _4_ .
::r;-l- Pl 1 (Satisfy)

S22. Ans.(b)
Sol.

1(n:{:rs 15°. cos ?’i“ . COS 825’) x 2
2 Z 2

1 1 1
::-—(cc:s 15°.2 X cos ?—".sin?—")
2 2 2

1
= ECDS 15°,s5in 15°

Multiply and divide by 2
::-é X ; X 2 cos 15° sin 15°
==X 2 xsin2x 15° TEST SERIES
=11, cin30° Bilingual
21 21 1 1

= -—X-X—=—
27272 8

S23. Ans.(a)
Sol.

k=(sec a + tan « (sec B + tan () (secy + tan y) (i)
k=(seca-tana) (sec p —tan B) (secy —tany) (i)
Multiplying equation (i} & (ii)

k? = (sec? a — tan® o) (sec® B — tan® B)(sec® y — tan® y) 59 Total Tests | eBooks
KE=1=2k=+1

5 | www.bankersadda.com | www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://www.adda247.com/product-testseries/4681/ssc-cgl-tier-ii-prime-2020-online-test-series

S24. Ans.(b)

Sol.
2 cog40® — cog 20°
gin 20°
cos 40°% — cos 20° + cos 40°

sin 20°
Using formula, cosC-cos D = 2 singsin Dz;c
_ 25in30°.sin(—10°) + cos 40°
B sin 20°
[ sin(—f) = —sin# ]
cos(90° — 50°) = sin50°
_ sin50° —sin10°

sin 20°
UsesinC-s5inD
C—D C+D

= 2 sin Cos
2 2
. 2 5in 207, cos 30°

sin 20°
=2 cos30°= \E
S25. Ans.(b)
Sol.
24/2 sin mﬂx( L LI e 35°)
2cos5® sin 5°

28in 5% cos 5°

Using formula, 2cosA cosB = cos(A+EB) + cos(A-E)

gin 5°+cos 45°+coa 35°—2 gin 35° gin 10°
= 21/2 sin mﬂx( )
gin 10°

= 24/2 (sin 5° + cos 45° + cos 35° — 2sin 35%sin 109)
= 2\/2 [sin 5° 4+ %: + cos 35° — (cos 25° — cos 45"}]

= Z\E[sin 5° 4+ i: + cos 35° — cos 25° + TIE]
WL

= Zﬁsin 1an(sin5°+2 cos 5° cog40°—2 3in 35°.2 gin 5° cos E’)

_ 2
= 242 [sin 5% 4+ cos 35° — co525° + —]
5

- 2
= 2y2 [sin 5® — 2s5in30°.s5in5° 4+ —}
V2
= 24/2 [sin 5% - sin 5°% + ﬁ] =4

S26. Ans.(b)

Sol.

ApplyingC&D
2tanf B 3

2cotB 1

sin® B 3

cos2B 1

sin® @ =3(1 -sin® 8)
4sin® 8 =3

sin@ = ﬁ;z
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S27.Ans.(c)
Sol.
cos22® 2tan75° 3tan 20°.cot 20°tan 40° cot 40°
cos22° 5tan75° 5
2 3

=2 —— ——
5 5
=1

S28. Ans.(c)
Sol.
(sin® B + cos® 8) (cos® B - sin® 8) :g

Emszﬁ—l:g

$29. Ans.(a)
Sol.

sin o o

cos(30%+a)
sino
=1

sin(90 — 30 — «)

sino
- = 1
sin(60 — a)
sin o = sin (60 - o
a=60-a
o =30°
sin 30° + cos 60°

1 1

= — —=1

2 2

S30. Ans.(c)
Sol.

sin 8+cos @

sin8—cos8
sinf + cos B8 =3s5in B - 3cos b

2sin 0@ = 4cos B

tanf =2

sin* @ — cos* @ Complete Preparation for
= (sin® 8 + cos® B) (sin® B - cos® B) SSC Exams

1 2
=5in® 0 - cos® B

=cos’ B (tan® 8- 1)
_tan®B8-1_ 4-1 3
B 5

sec2®  1+4

EXTREME

Video Courses, Test Series,
eBooks

7 www.bankersadda.com www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://www.adda247.com/product-comprehensive-video/5137/ssc-extreme-complete-preparation-for-ssc-exams

